
pT(th)
1

σnorm

dσ
dpT(th)

pT(th)
1

σnorm

dσ
dpT(th)

[GeV] [GeV−1] [GeV] [GeV−1]

0–40 (2.84 ± 0.03 ± 0.12)×10−3 240–280 (7.76 ± 0.09 ± 0.24)×10−4

40–80 (6.17 ± 0.03 ± 0.12)×10−3 280–330 (3.95 ± 0.05 ± 0.14)×10−4

80–120 (6.011 ± 0.032 ± 0.085)×10−3 330–380 (1.95 ± 0.04 ± 0.11)×10−4

120–160 (4.22 ± 0.03 ± 0.12)×10−3 380–430 (9.46 ± 0.26 ± 0.61)×10−5

160–200 (2.565 ± 0.018 ± 0.049)×10−3 430–500 (4.14 ± 0.16 ± 0.39)×10−5

200–240 (1.431 ± 0.013 ± 0.036)×10−3 500–800 (8.9 ± 0.4 ± 1.2)×10−6


